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MATHEMATICS
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The derivative of e with respeet to x is
2x ¢’
i === (2) 2xe & o {4)

E

The equation of the normal to the curve y = 5% af the point (1, 5) is
(1) x+20p=99 (2) x+20p=101 (3) x-2p=99 (4)

The angle between the curves ¥ =dvand 2 + ' =5 is

m 5 (2) tan(2) (3) tan'(3) ()
#u u

If b =x"" then §+§=

(1) 6" 2) 6x'y {3 & (4}

jmmxdr:

{1} log(cosecx +coix)+C {2) log{cot x2)+C

(3} log{anx2)+C (4) =cosec xeolx+C
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Area under the curve f{x) = sin x in [0, ] is
(1) 4sq. unis {2) 2 s4q. unils {3) 6sq. units {4) 8sg.units

3 P
d_P }'gﬁ_r;;_l.l.-_._lis

The order of x* =T+ Iy

iy 1 (2) 4 (3) 3 (4 2

dl‘ Ll H d.l )
Ihdeyﬂeuf[a{+[%] ] “”'&% is
(1) 4 2y 2 3 1 4y 3

The family of straight lines passing through the origin is represented by the dilTerential eguation
(1} pefx+xey=0 (2) xdy—yele=0 (3) xdvtpdy=0 (4) xebe—ypdy=0

dy

The difTereniial equitation —+ E"-jF+—'F'-""+-—§'-={J is called
ay hx+ber f

{1} Homogeneous (2) Exact (3) Linear i4) Legender

a
L]

dy _ ¢ .
The sohation of differential equation :h =g =y iz

(1) yet=x+e (2 pf=xtc () ye'=x+c (A y=x+e

The complementary function of (D*+D*+D+1) y= 105

(1} Ccosx+ Cgine + Ce (2) C,comx+Csiny+ Cer
(3) C,+Cposx+Cgsiny (4) (C,+Cx+Cx)e
Particular Integral of (D-1Yy=¢"is
] e 4
X o L i
1y e : {2} -2—4f (3) ur {4) 24.?
50
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o0
IFA={0 3 0].thenA‘=
o0 3
(1 3l (2) 9 (3) 2N 4) &
0 2 1
IFA={-2 0 -2|isaskew symmelric matrix, then the value of x is
-1 x 0
(1 2 2 {3 3 (4) 4
What is the number of all passible matrices with each entry as 0 or 1 il the order of matrices is
Ix3
(1) 64 (2) 268 (3) 512 (4} 256
1 i =i
IfA=] i =i 1 | .then]Al=
- 1
{1) 1 2) 2 3 3 4 4

The solution of a system of linear equations 2x-p+3z=%x+ y+r=06x-y+z=1is

(1) x=-ly=-2z=-3 (2) x=3yp=2z=I
() x=2y=lz=3 (4 x=Ly=2z=3
If 11 o= A B hen A= Bm -
X +a I+af X-=di — e T s ——
) s @ cpeae ) S @ -
Y 3 2 2ai’ 2ai i ol ai ai
- [¥
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i Al B TN S WS LMD .
Ifu._;-_il '[f'ﬂ-'-{l—l]:qlx—nl Ih:n%ﬁ. is equal to

n A (2) 24, (3) 44, (4) 4A,

The period of the function f{x) = |sin x| is
(= (2) 2= (3) 3= (4) an

If A+R=45°, then (1-cotA) . (1-cotB) is
n 1 2y 0 (3 2 4 -1

The value of sin 78° + cos 132%is

J51 Y5 +1 J5-1 J5=1
3 {2) 2 3 = (4) 4

(ny

If A+B+C =&, then sin2A + sin2B + sin2C =
(1} 4cosAsinB cosC (2) 4sinA cosB sinC
{3} 4cosA cosB cosC {4) 4 sinA sinB sinC

The principal solution of Tanx = 0is
(1} x=nmnned 2y x=0
(3) x={2a+1) =2, nelk (4) x=nmta, neld
The value of Tan™ (2) & Tan™ (3) is
E T T irx

m 5 @) 3 ® 3 @ 7

If the sides of a right angle triangle are in A.P., then the ratio of its sides is

() 123 (2) 2:3:4 (3) 345 (4) 456

Thevalueof rorror,is

(1} A 2 & (3) & 4y &'
D
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B |=

{4)

x| =

(n - 2y = (3)

Ifa=6, =5, =9, then the value ofangle A is
{1) cos* (219) (2) cos' (2/5) (3) cos’ (779) (4) cos' (1/3)

The polar form of complex number 1= is
(1) 2™ (2) Jzem (3) 2™ (4) V2e"

111, w, w* be the cube roots of unity, then the value of e e
(1 o (2) o (3) 1 4 0

The intercept made on X-axis by the circle ™+ +2gx+2+e =015

(1) Jgl-e @ Jri-e () 2/g-c - @ 2./

If one end of the diameter of the cirele X437 -5x-8y+13 = 0 5 (2, 7), then the other end of the
diameter is
(1) (3.1} (2) (1,3) {3 (-3,-1) (4) (-1,-3)

The radius of the circle v1+m” (x* + y*) - 2ex = 2mey = 0 s

(1} 2 (2} 4e (3} o2 4) ¢
T
The parametric cquations of the ellipse ;'5 +F =1 are
{1} x=asech, y=bianf (2) x=bsind, y = acost
(3) x=acosh, y=bsind (4) x=acosecd,y = b cotd
D
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44, The equation of the dircctrix of the parabola 2x* = =Ty is
(1) By+7=0 (2) By-7=0 (3) TwrE=0 (4} Bx-7=0
P
45. The condition for a straight line y = mx+e to be a tangent to the hyperbola ~5 =5 = lis
a
(1 e=ahm 2y d=am*=-F (3) E=Fmt+ B (4) c=am
3
. i,
p=sl :-l
(1) 3 (2) 2 (3) 4 4y 1
47. logi=
(1} =2 (2) =4 (3) inf2 4) 4
)
48, mj[lﬂﬂ-,)(}h
[ D [
iy = (2) Xlog* (3) Tlog!, (@) - logS
49, —[El.:nrshr]=
m = @ == (3) erer @) e-e
AR Gl o |
0. g l+x* )
| i -1 3 2 : =2
(0 55 @ i ) W 7
ap
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PHYSICS
I a spring has time period T, and is cut into # equal parts, then the time period will be

T
() Ta (2) J: (3) =T 4 T

When temperature increases, the frequency of a tuning fork
{1} increases

(2) decreases

(3) remains same

{4} increascs or decreases depending on the materials

' 2
If & simple harmonic molion is represented by g}a; +ax=0, s time period is

an 2n
(0 2o (2) Zno (3) o 4) T i

A cinema hall has volume of 7500 m?. It is required to have reverberation time of’ 1.5 seconds.
The total absorption in the hall should be
(1} 850 w-m? (2) 8250w-m* (3) 8250w-m® (4) 0.825w-m’

Toabsorb the sound in a hall which ofthe following are used
{1}  Glasses, slores (2} Carpets, curlains
{3) Polished surfaces {4) Platforms

If M represents avagadro's number, then the number of molecules in 6 gm of hydrogen st NTP is
(1) N {2} 3N (3) N (4) N6

The mean translational kinetic energy of a perfect gas molecule at the temperature T K is

() 34 @) AT (3) 4T ) uT
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The amount of heat given toa body which raises its temperaure by 1"C
(1} water equivalent {2 dlunmlhwcaq:acilx
(3)  specific heat {4} temperature gradient

During an adiabatic process, the pressure of a gas is found to be proportional 1o the cube of its
absalute temperature. The ratio Cr'Cv For gas is

3 4 5
() 3 @ 3 (1) 2 4 3
Cladding in the optical fiber is mainly used to
(1) o prodect the fiber from mechanical stresses
{2} to protect the fber from corrosion
(3) 1o protect the fiber from mechanical strength
(4) to protect the fiber from electromagnetic guidance

Two quantities A and B are related by the relation A/B = m where m is linear mass density and A js
force. The dimensions of B will be

(1) same as that of latent hest

(2} same as that of pressure

(3) same as that of work

{4) same as that of momentum

The dimensional formula of capacitance in terms of M,L, T and [ is
(1) [MLTF} (2) MLT'F] (3) LT 4) [MILTR)

IF4, me and m are the direction cosines of & vector, then

(1) d+men=1 (2) Prmien=1 (3) ;!-+£+:T=r (4) fmn=1|

The angle between i+ and j+k is
(1) o (2 90° (3} 45° (4) o0

UE ]
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A particle is moving eastwards with a velocity af 5 ms'. In 10 seconds the velocity changes to
& me" northwards, The sverape acceleration in this time is

1
5 ms towards norh-west {2) wero
I 1
(3} 7 ms?lowards north " 5 s towards north-east

The liriear momentwm of a particle varies with time tas p = a+bf + ¢* which of the following is
correct?

{11 TForee varies with time in a quadratic manner.

(2) Force is time-dependent,

(3) The velocity of the particle is proportiomal to time.

{41 The displacement of the particle is proportional to 1.

A shell of mass m moving with a velocity v suddenly explodes into two pieces. One part of mass
/4 remains stationary. The velocity of the other part is
i v (2) 2v (3] Iv/4 (4) 4wl

The velocity of a freely falling body after Is is
(1) 98ms! (23 10.2ms’ (3) 1B.6ms' {4) 196 ms"'

A large numbser of bullets are fired in all directions with (he same speed . The maximum area on
the ground on which these bullets will spread is

i 5 qy 3 2 @
() e {2) & (3) P ) g

The minimum stopping distance for a car of mass moving with a speed valong a level road. if
the coefficient of lriction between the tyres and the road is p, will be

" el a

v i X P i
12-0
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When a bicvele is in motion, the force of friclion exereted by the ground on the two wheels is
such that it acts

{1} Inthe backward direction on the fromt wheel and in the forward dircetion on the rear wheel
{2} Inthe forward dircetion on the front wheel and in the backward dircetion on the rear wheel
(3} Inthe backward direction on bath the front and the rear wheels

(4} Inthe forward direction on both the front and the rear wheels

In a perfeetly inclastic collision, the two bodies
(1) strike and explode (2) explode without striking
i3) implode and explode {4) combine and move together

Under the action of a constant force, a particle is experiencing a constant acceleration, then the
power is

(1) 2era (2) positive

(3) negative (4 increasing uniformby with time

Consider the following two statements:

A Linear momentuim of a system of particles is zero.

B: Kinetic energy of a system of particles is zero,

Then

(1) Aimplics B & B implies A (2} Adoesnotimply I8 & B does not imply A
i3} Admplies B but B does not imply & (4] Adoes not imply B but B implics A

An engine develops 10 kW of power. How much time will it take 1o il a mass of 200 kg o a
height of 40 m? (Given g = 1 ms ¥)

{1 4= (2} 3s (3) Es (4) 10s

15-Iv

WWW. manaresul ts. co.in



Th.

7.

8.

9.

R0,

Bl.

B2X

B3

SHCude:
Booklet Cudt:l_ii

CHEMISTRY

Awater sample showed it to contain 1.20 mg/flitre of magnesium sulphate. Then, its hardness in
terms of calcium carbonate cquivalent is

{1} 1.0ppm (2) .20 ppm (3} 0.60ppm {4) 2.40ppm
Soda used inthe |.-5 process for soflening of water is, Chemieally,

(1} sodium bicarbonate (2) sodium carbonate decahvdrate
i3)  sodium carbonate (4) sodivm hyvdroxide ($0%)

The process of cementation with zine powder is known as
(1) sherardizing  {2) zincing (3) metalcladding (4) - electroplating

Carrozion of a metal is fastest in
(1) rain-water 12} acidulated water (3}  distifled water 4)  de-ionised water

Which of the following is a thermoset polymer?

(1) Polystyrene (2) PvC

{31 Polvihene {4) Urea-formaldehyde resin
Chemically, neoprene is

(1) polyvinyl beneene {2} polyacciylene

(3) polychloroprene (4) paoly-1.3-butadiene

WVuleanization involves heating of raw rubber with
(1) selenium clement (2) elemental sulphur
{3)  amixture of Se and elemental sulphur (4)  amixture of selenivm and sulphur dioxide

Petrol largely contains

{1} amixture of unsaturated hydrocarbons C, - C,
(2)  amixiure of benzene, toluene and xylene

(3) amixire of saturated hydrocarbons C - C |
{4) amixture ol saturated hydrocarbons C_ - C,

1413
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Which of the following gases is largely responsible for acid-rain?
(1) 80,&NO, (2) CO, & water vapour
(3) CO&N, (4) N, &CO,
BOIL stands for
(1) Biogenetic Oxygen Demand (2) Biometric Oxygen Demand
(3) Biological Oxygen Demand (4) Biospecific Oxygen Demand

The valency electronic configuration of Phosphorous atom (ALNo. 15)is
(1) 33 (2) 3s'3p*3d' (3) 3ip’ud (4) 3s'3p3d°

Anclement A’ of AL.No. 1 2 combines with an element *B° of At.No.17. The compound formed is
(1) covalemtAB  (2) ionicAB, (3) covalentAB, (4) ionicAB

The number of nestrons present in the atom of | Ba'™ is

(1y 56 (2) 137 (3) 193 (4) 81
Hydrogen bonding in water molecule is responsible for

(1) decrease in its freexing point (2) increase in its degree of jonization
{3) increase in its boiling point (4) decrcase in its boiling point

In the HCI molecule, the bonding between hydrogen and chlorine is
(1} purely covalent {2) purely ionic  (3) polarcovalent (4) complex coordinate

Potassium mectal and potassium ions
(1) both react with water (2} have the same number of protons
(3) both react with chlorine gas (4) have the same electronic configuration

5.85 gins of sodium chloride were dissolved in water and the solution made upto 100 mlin a
standard flask. 10 ml of this solution were pipetted out into another Nask and made up with distilled
water into 100 ml of solution. The concentration of the sodium chloride solution now is

(1) 0IMm (2) 1L.oMm (3) 05M (4) 025 M

15-00
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93. Concentration ofa 1,0 M solution of phosphoric acid in water is
(1} 033N {2y LON (3) 20N (4) 30N
94.  Which of the following is a Lewis acid?
(1) Ammonia {2) Berylium chloride
(3} Boron triflucride {(4) Magnesium oxide
95, Which of the following constitutes the components of a bulTer solution?
(11 Potassium chloride and potassium hydrox ide
(2} Sodiwm scetate and scelic acid
{31 Magnesium sulphate and sulphuric acid
{43 Calecium chloride and calcium acetate
96. Which of the following is an electrolyte?
{11 Acetic acid (2) Glucose (3) Urea (4) Pyridine

97 Caleulate the Standard emf of the cell, Cd/Cd/Cu™/Cu given that E' Cd/Cd = 0,44V and
E' CwCu™=(-)0.34 V.
(1} )10V (2) L0V (3) (-)078V (4) 078V

g8, A solution af nickel chloride was electrolysed using Platinum electrodes. After electrolysis,
(1} nickel will be deposited on the anode
(2} I, gas will be liberated at the cathode
i(3) H, gaswill be liberated at the anode
{4) mickel will be deposited on the cathode

9y, Which of the following metals will undergo oxidation fastest?
i1 Cu (2) Li (3p Zinc (4] lron

100. Which of the following cannot be used for the sterilization of drinking waler?

(1) Ozone {2y Caleium Oxychloride
(31 Potassium Chloride (4} Chlorine water
1610
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ELECTRONICS AND INSTRUMENTATION ENGINEERING

Induction heating may be employed

(1) forannealing of brass (2) for heating of plastics
(3) inahot plaic (4) for heating of wood
The solar cell isatypeof devices,

(1) photovoltaic (2} photoconductive

{3) photoemissive {4} electromotive

Which of the following is falsc with respect to Root locus

(1) Mtis used to determing the stability of the system

{2} Iis designed to find the damping ratio of the system

(3) Itis used to caleulte the natural frequency of the feedback system
(4} Ttis used to deternmine the impedance of the system

- The Routh-Hurwitz Stability criterion is a necessary and sufficient method 1o establish the

stability of _ control system.

(1) Multiple-input, single-output, non-linear time invariant
(2} Multiple-inpul, multiple-output, linear time variant

(3} Asingle-input, single-output, linear time invariant

(4)  Asingle-input, multiple-output, non-linear ime invariant

Open loop system

(1) shows Negative feed back

(2) cancounter act aganist disturbances

{3} thecontrolled variable does not fade away

(4) cannot become unstable-as long as the controlled object is stable
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106. Which type of impurity is added 1o form a n-type extrinsic semiconductor

107.

108,

110,

1L

2.

(1) Aluminum 2)
(3) Gallium (4)

Indium
Arsenic

Booklet Code :'

The penetration depth of the depletion region within a particular side of the pn junction is

o the doping concentration
{13 inversely proportional (2)
(3) independent (4)

proportional
square root

Presence of emitter circuil bypass capacitor adversely afTects the

(1) low frequency response
(3) high frequency response

(2) midband response
{4) response over the complete frequency range

. The higher the frequency of the alternating current in the inductance, the eddy current loss is

(1) less (2) more

(3) medium (4) notchange

Under reverse bias, zener diode can be used az a

{1} current regulator (2) wvoltage regulator

(3) frequency regulator i(4) phase regulator

Both thejunctions of a transistor are in forward bias then it is operated in_______region..
(17 cut-off (2) active

(3) smturation (4) cross-over

Afier spplying voltage between source and drain terminals of a JFET, the channel becomes

{1} uniform (2)
(3) linear i4)
150
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The number of RC sections required in phase shift oscillator is at least

(1 (2) 2 (3 5 4) 6
Which of the following oscillator uses both positive and negative feedback
{1} RC phaseshift {2) Wein bridge

{3) LC oscillator © (4) Crystal

Cross-over distortion can be eliminated by biasing the circuit in

(1) ClassA (2} ClassB (3) ClassC (4) ClassAB
Monostable multivibrator requires type of trigger pulse,

(1) positive spikes {2) negative spikes

{3) zerospike {(4) notrigger pulse is required

If in a rectifier, the ripple voltage is 100 mV and the de value is 10V, then the ripple factor is given
by
(1) 0.01 (2) 0.02 {3) 0.001 {4) 0.0002

The larger the value of the filter capacitor

(1) Larger the peak-to-peak value of the ripple voltage

{2) Larger the peak current in the rectifying diode

(3) Longer the time that the current pulse flows through the diode
{4) Smaller the de voltage across the load

Ina UJT, with V ,, as the voltage across two base terminals, the emitter potential at peak point is
givenby

(1) n Vg @ 7V
(3) p VetV (4) nVytVag
%D {EIE)
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The output of gate is low iCand only if all its inputs are equal

(1) Ex-OR (2) AND (3 OR (4) NOR
An n-bil register requires _ number of Flip-Flops.
(1} In (2) n+1 (3 2" (4} n

The counters can be used in the measurement of

(1) voltage (2} time (3) distance (4) length
The memory which requires a refresh cyele is ’

(1} PROM (2} Static RAM
{3) Dynamic RAM {4) Magnetic tape

. Which of the following is known as half-adder

(1) XOR gate {(2) XNOR gate
(3) NAND gatc {(4) NOR gate

1f a counter is connected using six flip-flops. then the maximum number of stales that the counter
can count are

(6 (2) 256 (%) 8 (4) 64

The number of flip-flops required for a mod- | 6 ring counter are
1) 4 (2) 8 (3 10 4 16

The digital operations such as AND, OR, NOT elc., can be performed by using

(1) Amplifiers (2} swilches
(3) rectifiers (4) oscillators
00 {16} |
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The resolution of an A/D converter is determined by
(1} Start conversion Lime

(2)  The number of bits in the input word

(3}  The number of hits in the output word

{4) Thetype of interfacing

The reference and output voltages in the ladder type DVA converter are respectively
(1) Bothare positive (2) baoth are negative
(3) negativeand positive (4) positive and negative

A medium wave transmitter works in the frequency range of
(1) 100 Hz 1o 100 KHz (2) 500 KHz to 1600 KHz
{3y 1500 MHz to 3800 MHz (4) 4235 MHz 1o 5000 MHz

Accartier of 1200 KHz is amplitude modulated by an AF signal from 200 HZ to 5 KHz The upper
side band frequencies are

(1) 1205 KHz to 1200 KHz {2} 1200 KHzto 1195 KHz

(3) 1200.2 KHzto 1205 KHz {(4) 1202 KHz to 1205 KHz

One of the following is a disadvantage of V3B system

(1} Iconserves bandwidth resulting in a saving of 2 MHz per channel over a DSE system
(2} Movercomes the problem of low video frequency attenuation

(3} It results in power boost of low video frequencies

(4) It possess the advantages of both DSRE and S5B system

The  isanetwork of resistors containing only two values.
(1) binary divider {2} binary ladder
(3) analogdivider {4) analog ladder
211y (EIE}
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The voltage gain of the voltage follower circuil using op-amp is
(1) 1+R/R, 2) RJR (3) R/R, (4) one
Which of the following circuil does not use a PLL?
{1) FM demodulating {2) frequency multiplying
(3) frequency synthesis {4) wvoltage regulation
The pulse width of a astable multivibrator is given by
(1) 048RC (2) 048 RIC (3) 1.38RC {4) 138RIC
How many op-amp does it take to construct an instrument amplifier
(1 2 2) 3 (3) 4 4) 6
The resolution of a four bit DVM is .
(1y oav (2) 001V (3) 0001V (4) 00001V
Suceessive approximation DVM is also called
. (1) dual slope DVM (2) differential voltmeter
{3) potentiometric DVM (4} ramptype DVM
A CROvis generally used to measure
(1) temperature (2) pressure
{3) amplitude (4) all the above
When two periodic signals of equal voltages and 180 degrees out of phasc with each other are
applied to CRT, the waveform observed on CRT is
(1) asraight line {2) circle
i3) ellipse i4) parabola
0 fEIE)
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A spectrum analyser is sctually a heterodyne receiver in which the local oscillator is a
generalor,
(1) pulse {2) sweep (3)  square wave (4} sinewave

OQ-Meter is used to determine of a component.
{1} frequency (2) phaseangle (3) quality factor (4) all

- Which of the following method is used to connect the unknown component to the test terminal

ol a Q-meter?
(1) direct (2) series (3) parallel (4) all

In a digital frequency meter, the assembly consisting of two AND gates and the two flip-flops is
known as

(1}  decade counter (2) gate comtrol setup

(3)  Schmin trigger (4) read counter

In instrumentation the parameter being measured is called )
(1} eror detector  (2)  source (3)  mexsurand (4) sink

The nearest of the indicated value to the true value of the quantity is called
(I) precision {2} error (3} accuracy (4} sensitivity

Firani guage is an example ol transducer,
(1) resistive {2) capacitive {3)  inductive (4) active

The value of impulse signal at =0 is
(y o 2 1 (3) infinity {4) notdefined
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Multiturn potentiometer can measure 8 maximum of __ degrees,
(1) 30 (2) 300 (3} 360 (4) 3500
The poissions ratio for all strain guage material lies between
(1) 0-0.5 (2) 0l (3) 0-15 (4) 0-2

For capacitive transducers the equation for the capacitive of a parallel plate capacitor is given by
(1} C=dieA (1) C=delA (3) C=eAd (4) C=ead

Microphone is a type of ransducer.

(1) capacitive (2) resistive
(3) inductive {4) mechanical
The pH of a solution is proportional to

(1) log[H’] (2) -log[H’] (3) 1iog[H'] (4) -log[H']

The pH of blood for a normal human being is
(1) acidic (2) basic
(3) ncutral {4)  highly acidic
Ina magnetic Mow meter the induced voliage duc to flow is given by
(1) E=BCLY {(2) E=BLICV
{3) ES(B+L+C+V) {4) E=BCLV
Which of the following can be used as piezo electric materials?
{1} Rochelle salt {2) ceramics A&LB
(1) lithium sulphate {4) all
D {EIE)
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e _ particles have neutral charge.
(1) Alpha {2) DBeta
(1) Gamma (4) Positrons
___isalso called a variable area meter.
(1) Rotameter (2) Mmanometer
{3) Venturimeter (4) Orficemeter
_is also a unit of temperature.,
(1) Candela (2} Ampere (3) WVolt {(4) Rankine
The Reynolds number for turbulent flow is

(1) 1000 (2) 2000 (3) 3000 (4) 4000
The response of a time constant element for a step change in input is

(1) Unity {2) Zero

{3) Exponential (4)  Infinity

Heset action is another name for control mode.

(1} Two-position {2) Proportional
(3) Derivative (4) Integral
. A PID control mode has
(1) Faster response {2} Slower response
(3) More dead time {4) High rise time

A P-controller has a gain of 50. Its proportional band is
(n 4 (2) 3 (3) 2 4 1

I5-D

WWW. manaresul ts. co.in

=i




Set Code :[ T2
| D

Booklet Code
166, Differcntiate gap is intentionally incorporated in some processes to prevent effect.
(1} Excessive cyvecling {2) Saturation
(3} Clamping (4) Alinsing

167. In process controller which of the following can be used for signals transmission between the
controller and the sensor?

(1} Electric {2) Pneumatic (3} Hydraulic (4) Al
168. In pneumatic controllers are used for applying the signals from the sensors.
(1) Op-Amps (2) Gears (3) Bellows (4) Piston

169, The forces that act on an actuator are
(1} Inertia forces (2} Static friction forces
(31 Thrus! forces (4) Allofthe above

170. Which of the following distrubances eceur in a process control?

(1) Transient (2)  Set-point changes

{3) Loadchanges (4}  Allof the above
171, Generally ina caseade control__ mode is used in a secondary loop. |
n r (2) Pl (3) PD (4) PID 1
172. In a ratio control system, the ratio factor 'K’ lies between and |
(1) 1.3 (2) 0.33.0 (3) 330 (4) 1,100 !
1
173, In distillation columns. are separated. 1
{1y Two liquids {2y Oone solid & one liquid !
{3) Twopgases (4} Mone '
)
|
-0 e
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An element used 1o provide necessary linear rotary motion for a control valve stem is called

(1) Actuator {2) Plug

[3) Spring (4) Bellows

Spectroscopy deals with the sudy of interaction of _ with matter.

(1} Electromagnetic radiations {2) current

{3) (requency {4) density

Duetarium lamps are better suited sources in the ______region,

(1) uwv (2) visible (3) IR {4) microwave

Ina gas-liquid-chromatography the carrier phase is

(1) Solid (2) liquid (3) gas (4) all

The efficiency of a distillation column is expressed in terms of

(1) Sample injection {2)  detector response

{3) theoretical plates (4) type ol sample used

The paramagnetic gases are

{1} Helium (2} Hydrogen

{3} Mitrogen (4) Ooovgen

Single focusing magnetic sector analyser is degree analyser.

(1) 90 (2) 180 (3) 270 {4y 360

Paper chromatography is also called __ chromatography.

(1) partition (2) gas

(3} liguid (4}  adsorption 5
7-n (FIE}
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. Electromyogram potentials are associated with
{1} brmain (2) muscle (3) heart
PORST wave is associated with
(1) EEG (2) ECG (3) EMG

The principle ions present in the body fluids are

(1) Sodum {2y Potlassium
(3} Chloride (41 Al

8051 conteol has __ register banks.

(1) Ome (2) Two

(3) Threc (4) Four

The following bits in [E register disable all interrupts simultaneously

{1y ETO (2) EA (3) ES
Ladder diagram are used in

(1) PLC's {2} Computers
(3} Microprocessor {4) Actuator

Set Code f

BE]

Booklet Code ;

__activity.

(4) kidney

(4) EGG

4) ACC

In microcontroller 8051, the total no. of three byte instructions are

(m 17 (2) 45 (3) 49

L = _called a PPI controller.

(1) 8251 (2) %255

(3) B257 (4) 8259
-0
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The scratchpad area of RAM of 8051 has bytes,
(1) 20 (2) 40 (3) &0 (4) 100

Three equal resistors of 3 £3 each are star connected. Their equivalent delta connected resistance is

{1y 14 (2) 120
(3 60 4) 90
While finding thevenin's resistance, voltage sources il any are set to xero by
(1) short circuiting (2} Open circuiting
{3) connecting in series with load {4) connecting in parallel with load
In a self excited degenerator, the initial flux is produced due to
(1) the saturation of core (2)  eddy currents
(3)  hysteresis (4) residual magnetism
Which of the following is a cause for the production of back emf.
(1) generator action {2) motor action
(3) armature reaction i (4) eddy currents
The effective value of the induced voltage in a transformer winding is represented by
(1) 444Np (2) 444MNo,
(3) 444MNB_ {4) 444MNp_ A
. Which of the following statement is true with respect 1o synchronous motor

(1) itis not self-starting

(2} itis self-starting

(3} itcan run at any speed

{4) it can run at a speed close to the synchronous speed

N0 {EIE}
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Photodetectors are used in swilching circuits.
{1} magnetic (2) electric
{3) current (4} twilight
. ALED prepared with GaAs, P, withx~0.4gives  coler.
1) blue (2) green
{3) vellow (4) red

(1} input voltage (2} input current
{3) output voltage (4) output curment

The following all are true except one with respect to the advantages of projection welding mrd

spot welding

i1} Morethan one weld can be done at & time to oblain more output

(2) The life of electrodes is less because of low current density

Set Code :
Booklet Code :

. Photo voluic cells are two-terminal devices that vary their with exposure to light.

{3) The finish is good as the surface remains unindented by clectrodes

(4) Welds are automatically located by the position of projections
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